2 2
X1To + X1T5 + X3,
2 2
T1T3 + T1T3 + Ta, (1)
T1X9X3.

\begin{gather}
x_{1} x_{2} + x_{1}7°{2} x_{2}7°{2} + x_{3},\notag\\
x_{1} x_{3} + x_{13°{2} x_{3}°{2} + x_{2},\label{E:m19}\\
x_{1} x_{2} x_{3}. \notag

\end{gather}



2
(CU1$25U3.§U4CU5ZU6) +
2
(5!31[[}2333334555 + T1T3T4T5T6 + T1XoL4T5Te + 331332{[}3335336) +

2
($1$2$3$4 + X1X9X3T5 + T1T9L 4Ty + T1X3X4T5 + $2$3$4£B5) (2)

\begin{multline}\label{E:m113}
(x_{1} x_{2} x_{3} x_{4} x_{5} x_{6}) {23 +\\
(x_{1} x_{2} x_{3} x_{4} x_{5} + x_{1} x_{3} x_{4}
x_{5} x_{6} + x_{1} x_{2} x_{4} x_{5} x_{6}
+ x_{1} x_{2} x_{3} x_{5} x_{6}) " {2}+\\
(x_{1} x_{2} x_{3} x_{4} + x_{1} x_{2} x_{3} x_{5} +
x_{1} x_{2} x_{4} x_{5} + x_{1} x_{3} x_{4} x_{5} +
x_{2} x_{3} x_{4} x_{5}) {2}

\end{multline}



T=y+2

U =70+ w.

\begin{align} \label{E:ml11}
x &=y + z,\\
u &= v + w.\label{E:mlla}
\end{align}



(x) +g(x) 1+ flz)g(x)
o = [ (e + i) ?

= / + /(@) dz — 2tan~"(z — 2)

1+ g(x)

\begin{align} \label{E:m12}

h(x) &= \int \left( \frac{f(x) + g(x)H1 + £~{2}(x)}+
\frac{ 1 + £(x)g(x) }{ \sqrt{l - \sin x} }
\right)\,\dx\\

&= \int \frac{ 1 + f(x) H 1 + g(x) }\,\dx
-2 \tan"{-1}(x - 2) \notag
\end{align}



r=zA(yVz) (by distributivity) (6)

=(xAy)V(xAz2) (by condition (M))
=yVz
\begin{align}
x &= x \ wedge (y \vee z) & &\text{(by distributiv

&= (x \wedge y) \vee (x \wedge z) & &\text{(by condition (
&= y \vee z. \notag
\end{align}



flx) =z +yz gle)=z+y+2 (7)
h(z) =zy+2xz+yz k(x)=(x+y)x+ 2)(y + 2)

\begin{align}\label{E:mm3}

f(x) &= x + yz & g(x) &= x + y + z\\
h(x) &= xy + xz + yz & k(x) &= (x + y) & + z)(y + 2)
\notag

\end{align}



flz) =2 +yz gx) =z +y+2 (8)
h(x) =xy+xz+yz k(z)=(z+y)(x+2)(y+2)

\begin{flalign}\label{E:mm3f1}

f(x) &= x + yz & g(x) &= x + y + z\\
h(x) &= xy + x2z + yz & k(x) &= (x + y)(x + 2)(y + z)
\notag

\end{flalign}



\begin{eqnarray}
x & = & 17y \\
y&>&a+b+c
\end{eqnarray?}

\begin{align}

x &= 17y \\

y &> a+b+c
\end{align}

x = 17y
y > a+b+c

x =17y
y>a+b+c



2
5
Ty + Yy + (Z (Z) +a2>
1<5

- 2
(=0
i<s N\
\begin{align}

x_{1} + y_{1} + \left( \sum_{i < 5} \binom{5}{i}
&+ a~{2} \right) "{2}\\
\left( \sum_{i < 5} \binom{5}{i} &+ \alpha~{2} \right) {2}
\end{align}



flx)=x+yz g(z)=z+y+=z (13)
hix)=zy+zxzz+yz kz)=(z+y)(lz+2)(y+2)

\begin{alignat}{2} \label{E:ml13}
f(x) &= x + yz & \qquad g(x) &= x + y + z\\
h(x) &= xy + xz + yz & \qquad k(x) & (x + y)(x + z)
(y + z)\notag
\end{alignat}



r=zA(yVz) . by distributivity,
=(xAy)V (zAz) by Condition (M),
=yVz

\begin{alignat}{2} \label{E:ml3a}
x &= x \wedge (y \vee z) & &\quad\text{, by
distributivity, }\\
&= (x \wedge y) \vee (x \wedge z)
& &\quad\text{, by
Condition (M),}
\notag\\
&= y \vee z \notag
\end{alignat}

(14)



\ [

\]

T =3, T =D,
y =4, or y =12,
7 = o 7 = L

\begin{aligned}

x &= 3,\\

y &= 4,\\

z &= 5;
\end{aligned}
\text{\qquad or \qquad}
\begin{aligned}

x &= 5,\\

y &= 12,\\

z &= 13.
\end{aligned}



o= ()

i — 2tan"'(z —
j/ 1-+—g(x)(jx 2tan”(z — 2)

(15)

\begin{equation}
\begin{aligned} \label{E:longInt2}
h(x) &= \int \left( \frac{f(x) + g(x)H{1+ £~{2}(x)} +
\frac{1+ f(x)g(x) }{\sqrt{l - \sin x}} \right)\,\dx\\
&= \int \frac{ 1 + £f(x) H 1 + g(x) }
\,\dx - 2 \tan"{-1} (x-2)
\end{aligned}
\end{equation}



\ [

\]

T =3, T =D,
y:47 y:127
7 = o or 7 = L

\begin{aligned} [b]

x &= 3,\\

y &= 4,\\

z &= 5;
\end{aligned}
\text{\qquad or \qquad}
\begin{aligned} [b]

x &= 5,\\

y &= 12,\\

z &= 13.
\end{aligned}



f =:($1952333$4$5CU6)2
::(x1x2x3x415-+-x1x3x4x51@-+-$1$2$4$51%'+'$1$2$3$51%)2 (16)

2
= (56'1562553334 + X1T9X3T5 + T1XoT 4T + T1X3L4T5 + $2$3ZC4$5)

\begin{equation} \label{E:ml5}
\begin{split}
f &= (x_{1} x_{2} x_{3} x_{4} x_{5} x_{63}) {2F\\
&= (x_{1} x_{2} x_{3} x_{4} x_{5} +
x_{1} x_{3} x_{4} x_{5} x_{6} +
x_{1} x_{2} x_{4} x_{5} x_{6} +
x_{1} x_{2} x_{3} x_{5} x_{6}) "{2F\\
&= (x_{1} x_{2} x_{3} x_{4} + x_{1} x_{2} x_{3}
x_{5} + x_{1} x_{2} x_{4} x_{5} + x_{1} x_{3}
x_{4} x_{5} + x_{2} x_{3} x_{4} x_{5}) {2}

\end{split}
\end{equation}



f ::($1$2$3$4$51%)2

2
= (I1$2$3$4ﬂ35 I T1X3X 45T I L1 XX 45T I x1x2$3x5x6) (17)
2
= (.2713723335174 + T1X9X3T5 + T1X9X4 L5 + L1X3X4T5 + £U2$3ZI§'433'5) ]
9 = Y1y2ys- (18)

\begin{align} \label{E:m16}
\begin{split}
f &= (x_{1} x_{2} x_{3} x_{4} x_{5} x_{6}) {2}3\\
&= (x_{1} x_{2} x_{3} x_{4} x_{5} +
x_{1} x_{3} x_{4} x_{5} x_{6} +
x_{1} x_{2} x_{4} x_{5} x_{6} +
x_{1} x_{2} x_{3} x_{5} x_{63) {23\
&= (x_{1} x_{2} x_{3} x_{4} +
x_{1} x_{2} x_{3} x_{5} +
x_{1} x_{2} x_{4} x_{5} +
x_{1} x_{3} x_{4} x_{5} +
x_{2} x_{3} x_{4} x_{5}) {2},
\end{split}\\
g &= y_{1} y_{2} y_{3}. \label{E:ml7}
\end{align}



[ (@) +g(x) 1+ f(z)g(z)
o= [ (e i)

The reader may find the following form easier to read:

= 1—+!f(x) r— 2tan H(x —
_/1+g(sv)d Han(m = 2)

\begin{align} \label{E:ml18}
h(x) &= \int \left (\frac{f(x) + g(x)H{1 + £~ {2}(x)} +
\frac{l + £f(x)g(x)FH{\sqrt{1l - \sin x}}\right)\,\dx\\
\intertext{The reader may find the following
form easier to read:}
&= \int \frac{l + f(x)H1 + g(x)}\,\dx -
2 \tan"{-1}(x - 2) \notag
\end{align}



flx)=z+yz gx)=x+y+=z2
The reader also may find the following polynomials useful:

hx)=xy+zz+yz kix)=(z+y)(z+2)(y+2)

\begin{alignat*}{2}
f(x) &= x + yz & \qquad g(x) &= x + y + z \\
\intertext{The reader also may find the following
polynomials useful:}
h(x) &= xy + xz + yz
& \qquad k(x) &= (x + y)(x + z)(y + z)
\end{alignatx*}



—z?, ifx <O
flz)=<¢04+z, if0<z<I; (20)

z2, otherwise.

\begin{equation} \label{E:m110}
f(x) =
\begin{cases}
-x~{2}, &\text{if $x \leq 0$;}\\
0 + x, &\text{if $ 0 \leq x \leq 13$;}\\
x~ {2}, &\text{otherwise.}
\end{cases}
\end{equation}



2

| = (2122333435 %)
2
($1I2£U3$4I5 + T1T3T4T5T6 + L1 XL 4 T5T6 + $1$2I3$5LI36)

2
(5613321'3554 + X1T9X3X5 + T1XoT 4T + T1X3X4T5 + 1'25173554335)

9 = Y1Y2y3 (21)
h= 22257 (22)



\begin{gather} \label{E:m111}
\begin{split}
f &= (x_{1} x_{2} x_{3} x_{4} x_{5} x_{6})"{2FX\\
&= (x_{1} x_{2} x_{3} x_{4} x_{5}
+ x_{1} x_{3} x_{4} x_{5} x_{6} +
x_{1} x_{2} x_{4} x_{5} x_{6} +
x_{1} x_{2} x_{3} x_{5} x_{63}) {23\\
&= (x_{1} x_{2} x_{3} x_{4} +
x_{1} x_{2} x_{3} x_{56} +
x_{1} x_{2} x_{4} x_{5} +
x_{1} x_{3} x_{4} x_{5} +
x_{2} x_{3} x_{4} x_{5}) {2}
\end{split}\\
\begin{align*}
g &= y_{1} y_{2} y_{3}\\
h &= z_{1}°{2} z_{2}"{2} z_{3}"{2}
\end{alignx*}
\end{gather}



a=>b+c,
d=e+f,
r=1y-+z,
U =v+w.
{\allowdisplaybreaks
\begin{align} \label{E:m114}
\allowdisplaybreaks

a &= b + c,\\

d &= e + f,\\

x &=y + z,\\

u &= v + w.\notag
\end{align}
+

DO
w

)
=

N\
Ot



